feg lld PRottse

[ 7/€MG o2/p 2|

(b FMPITeR La1GIREERING -
FIR o

AN

D 2 : FLEt Dz
j%(" J{ s L Ry T
B0 . et A I T s g,
o/f 2 H
juJ\/,q\{- \I«JU

S
=3 éé{i::f_
2 (i’ )
S

U-24 Dl"’ E 2 -

o /o/tf
———a)/g”\:/dv
ja"c/u

¢

/—- (TS

(n(=)

! z‘f"‘ Nels?
- N

G wd (gme /7

f ej‘)" |

61 2P0

= 3G fc
=

pa i

i )
@ j7£25"”7(
Wz G Bl =0 e
_ju’;:bc = —Cas>C.
,SLIC/\/:J"“)/VCA/‘

o o oo S (o) ]

= -—7(2(057( —g— 2>¢ (o55¢ &
Now §a’/u}>j

j' Zacéyxc/x

= A)j?(ﬁ? S?CJ?C
Now Solyins
57( (off c/x

C%f 7i ; du = Gex
‘:d/’c—‘;lu':«."/’( N = Simse.
e YCCﬂ(x‘) - g;m(;c)(lc
2C Sin ¢ —1[ (os>
/%[jp R f&(fh tn 7/@’
= ~ 25C Stnx— 2(05>C -




@ 5947"9( Cos 25c

5"/7&’)(05 Q/P: -’?’[{10 RINYS Qa0
Rlii2ical 26 foc -

-

9}47&,(2 J(
) U= %c 'J”C

:-’/7 {’\ﬂ U¢/U

= — (o5 ¢

j Sta Soe 7:1

U= §7C,i/_’2§.

c/oL

J?C:/lg W'

= — (R
A

7 . N
F (9 Bddet 4 Sl dn
2 26s(b0 - Gxle ¢

[o

1%
'('Qo(-gocl)
(O
[
Reore
— 3::-1) @)7("
Sc-!
=~/ 44y

~ 2 Gos (3> S-20 (o5 (36D e -
—>C% (o5 (;c){ 25¢ er—/ RGsx

22 Sinre =202 (s GO T 2Gs A 0
f?v('g}‘n—)( %(‘2—)(2)(415()()“C 4

E 2
/ )ﬁsnﬂﬂwcﬁf “"fjg""@*)g" i

= CCute) Gutd
St

= jzuﬁwm\{ e

u p
- 5'(‘3“44&{ Wi
- 3Gudu 4 SigdutnSidv
= 3 lnutal>
= ) 13L 4 4 (Y

U—o=1

= [n ,c-D{ 3{;{-D24 L&(y(»D
-
s =i (-0~ 3D - )
z

e i

= 44’(76-1)—.}/:\——'31_'
lo (1c- L ¢

—

C .~ u_" Cl’[ du: C];( Qc?f[u;jL



